H 304 mEPEE 1 0A17TE
B | & LB - 1TRF HEER® FADFE BIHRE 112/3/4/56
SSWEELLRE  ALTRE . - #0000 0%
1A sz erzamn 11 A5 en 2] #*| O 122100000 %
- 1% |80 0000
2 | W |somtEs ket %l O [2&E|E|0o|0/0|0 ©
3E[E 0 0|0 0 ©
~ %000 0]0
3 [ /K |K123425  J\BE/NEOBERNZRRFRIZE(3-4R) 5l O |25]lo|lo|0o|0|#
3% |00/ 0|0 #
Py . %00 000 0
il ol Rl HHEHEE
] %000 0|0 &
5 | €& |&123465k5 3%F:5-6[BHEK  ALTER = O EEARIRIRIRIEAES
3E 0|00/ 0 & &
T RER SRR RO ENERARREL (FLAR—Y/N—%) 3
6 |+ |wez=m (s 1730~18:30) M8 (@R AEREAS 25
R (RAE-BRAARYE BETEED TR FRERS 3E
14
7 | B |mtkERS ik 25
3&E
3
8 | Blxsnra wohkENSRG 25
3
- %80 0000
0 | k|12 1 REARSD  SOEEAERE  ALTRHE #| O [2£]# 00000
3E[E 0 0|0 © ©
~ %000 0] 0
10 | 7K JALTSE#:  7k1234K2 11 AR RAEZE A 5| O |2#|lo/o|0|0|©
3% |00 0|0 ©
- 1% |1 00| 0] 0] ©
11 | R|ALTE#  7K5K13456 11 8 5 4R A BARS 1 OR A FARIRIRIRIER
3E|#/0/ 0/0 0 ©
ALTER: 246l BERBRE - 1£10/0/0 010 0
12| & [\corirces7—(EfE2) ! #| O 122100000 &
13 | £ [RERBEEE 0OLD) KB EBRES) FRFE I ;ﬁ
RE (LEE - EER) 2RERS BT ENY =
14
14 | B |FkERSLK(EXT-2AFHE) BIFENYFER l &
3
- %0/ 0] ©0|0] 0 =
15 | B |27 AMEE KBZRET  SSWHEBELERR l | O [2&5]olo /0|00 %
3% |00/ 0|0 0 %
- 1%£]0]0]|0|0]| 0 &
16 | N | k234561 14E6[R: BRREBRE l &l O |2&]o|o|0|/0 o0&
3E|0/0/0|0 0&
] EHPEERE
17 | K |1 2EBE AT (2~4BET) 5MR: AR IA5I#EX 11 A RAKEYI B | O |2&8|0o H % = #
3% |0/0/0 0 #
- %00 ©| 00| 0
18 | K|&teshrEmEEL | O [2&5]o|/o /0|00 ©
3E |00 0|0 0 ©
~ %00 ©|0]0] 0
19 | € | O [25]ol0o 0|00 &
3% |00 0|0 0 &
14
20 | L |2TMTL R ESR) REBRSEE  BiE (TEE - EBHE) KBREE 25
3
3
21 | H 2%
34
~ % |7 |7 |7
3E|T T T
DA
23 | e [FPITRH HAREAKR =| o« hafs =2
SCEBLLEREN  SSWHEELS EHRK BN RJC = ; Lz
- 1% 00|00 &
24 | /K | resra2IRa 84 HEMAR @R K| O [2&5]o|/0 0|0 &
3% |0/0/0 0 #
%00 0000
£ = Fie 11Hﬁ@ﬁ%ﬁi ==
25 | K|#EmAR EiEE 12 BT RET st| O gg 8 8 g 8 g g
_ %000 0|0 &
26 | € |EEHAL 128 5 A HARS | O |[25|o/0o/0/0 0 &
3% |00 0|0 0 &
iz (ZEr) BRI L RS 3
27 |  |im/d - fnFLiAER SR l 2%
MIUFY I R1EE RS REHFT=Ra—F) 3E
14
28 | B |20 BEE GEEHIBE) KBS l 2%
3%
DEBHELESTF— 1R DLHT o —h-HBERHT L —h - 1£]:8/0/0/0 00
29 | B |lxomx  sswaEmss xi . %) O 1221800000
- 1%£]|0 0|00 %
30 | X |A12346 | Bl O |2%|o|lo|o|0 =
3E |0/ 000 %
_ 15 | 48| 48| 48 | 47| 17 4T
31 | 7K [smszies:  aEK 12 8 B A 4] =l O NElrlg wla aF
3E |18 17 A 1T
AT REMEES
HERHK HEEK 1£ 20
3E EHATAMI/6 (N) 25 2 018
SEIE T2~ 11/28 (k) ~11/30 (£) 3 20M
TS VYRS 11/21 (K) BrRy 1& 220
11H 1 2EBNEE 11/9 (&) 22 22H
7E | A 11/20 (B) 3 22H

%

=

E




